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~ Assay of the length of the door which is not closed using Pythagoras’ theorem~

R (The original)
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+I think in one piece of door.

I assume 4sun between both doorways half 2sun and do it with a

one-tenth two minutes.

I assume 2shakus of a thing stepping forward a one-tenth 2sun.
I measure half horizontal length of the door led by Maki (point A)

with compasses,

and the length confirms that it is equal with length of the side for

one piece of door
when a door completely closed.

*I use a Pythagorean theorem in AABC.
From @ AB=AD CD=2bu CB=2sun=20bu
The creator of this problem assumes it AC=X.
AB?=AC,+CB?
(X+2)2=X2+202
X2+4X+4=X2+20?
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FEEEER (English translation)

I open the gate and leave the
country. I appear before
2shaku, and the interval of
both doorways opens 4sun. I
want to know the overall
horizontal length of the gate.
I do it to half to make 4sun
which do not watch one piece
of share of the door and do it
in 2sun.

In addition, I make 2sun with
2sun as a one-tenth.2shakus
stepping forward make a one-
tenth and assume it 2sun. 1
measure half horizontal
length of the door led by
Maki with compasses, and
the length confirms that it is
equal with length of the side
for one piece of the door when
a door completely closed.
Because there are 9sun nine
minutes length, T do 10times,
and it becomes 9shaku 9sun

This becomes the horizontal
length for one piece of the
door. It becomes 1jyou
9shaku 8sun when I double
this and becomes the
horizontal length of the whole
gate.
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It becomes AB=99bu=9sun9bu by this calculation.

X2=(X—2)2+202
X2=X2—4X+4+400
4X=404

X=101

However, you must do 99+ 2=101 because you actually assume it AB=X+2.
I assume it AB=AD=X as a right calculation formula.

Therefore, it becomes AB=101bu.

*I double 10 and go back up in an original value.

101X 10=1010bu
1010bu=101sun

*Because it is the horizontal length for one piece of the door to have demanded
at the top, I double the numerical value that I found.

101sunX2=202sun
202sun=2jyou2sun

Thus, the overall length of the true door becomes 2jyou2sun.

4X=400—4
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| do 4sun between a door and the door which | know to know the horizontal
length of the open gate and 2syaku stepping forward to a one-tenth and think

using a reduced scale and compasses.

As a result, | double this 10 that the horizontal length for one piece is identified
as 101sun and returns it to the original size and be found with 101syaku.
Furthermore,| double this to make the length of the whole gate and because

2zyou2syaku.
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IT was very difficult to read and to untie
Sangaku of the Edo era but was able to
solve one problem while sharing it with five
and putting each other wisdom together.
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